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01. Green revolution in India has been
successful in case of
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I ndian Army Tradesman sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN

TIME-1HR. | QUESTIONS -50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

05. The name “Dakshin Gangotri” is
associated with which of the

i ifr IRd # foret aoe & et w7 following?
a. Wheat/ % "afeqor TR AT e 8 & forw A &
b. Sugarcane/ 7= Hrsiferd 27
c. Rice/ smae a. Rameshwaram/ wram
d. Mustard/ st b. Kanyakumari/ s
c. Antarctica/ sicrhfesmr
02. India is not a member of which of d. None of these/ s & %13 T

the following?

W Feferiera & & fohw o1 weea 7 87 06. The UNO came into existence in
a. ASEAN the year
b. SAARC UNO = &= st a1 gatr?
c. NAM a. 1942
d. None of these b. 1945
c. 1947
03. Which country won the maximum d. 1950
number of medals in 2008
Olympics? 07. What is the duration of ‘Zero Hour’
fora 217 2008 =Acifuss o e 31fres uesh Sid? in Lok Sabha?
a. United states of America/ &3 tsa ARG H "I wie AT Safer o 27
FutE a. 2 Hours
b. China/ == b. 1 Hour
c. Russia/ == c. Halfan hour

d. Great Britain/ oz fsiés

04. Which of the following rivers
originates from “Amarkantak”?

d.

None of these

8. Which is the largest man-made lake?

T 8 & i o A ek & Seae Bl 27 e et w A e A R
a. Some/ @ a. Wular/aex

b. Godavari/ merdt b. Ch111.<a/ Tereent

c. Mahanadi/ mer@ c. Udai Sagar/ 3ei @

d. Narmada/ T d. Govind Sagar/ mfa< @R
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09.

10.

11.

12

13.

14.
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The term “Apartheid” is referred to
w18 " TR T A &

a. Racial discrimination/ T Sewma
Religious discrimination/ enfiis wevma
Linguistic discrimination/ st siewma
Political discrimination/ T=ifies wewma

e oo

“Macbeth” is a famous drama written
by which author?

foper oiareh 3T "Ry AT Uit ATesk forar I 27
Tolstoy/ e

Shakespeare/ s@fRrR

Hemenway/ 33

None of these/ 7 & =g 7t

&0 o

The largest desert in the world is
RIT 1 T SISt (AT hi 1 22

a. Kalahari/ =

b. Sahara/ =

c. Atacama/ swrRm

d. Thar/ sx

. Santosh trophy is associated with

AT 2T ford T & Fwifad 87
a. Volleyball/ diefsia
b. Cricket/ fsc

c. Football/ gzt

d. Polo/qmr

Who was the first President to be
elected unopposed?

ffdRg faffad g arer et Tguft i 97

a. VVGiri

b. Neelam Sanjeev Reddy

c. Dr. Rajendra Prasad

d. AP]J Abdul Kalam /.3, stsget sem

Mysore is famous for
e form o forg s 27
Silk/ wm

Jute/ 5

Grapes/ 3t

Zinc/ =

8o oo
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15. Who was the first president of the

United States of America?

FATEES TTH o Teet Tgufet i o477

a. George Washington / Sifsf anf¥fres
b. ] F Kennedy / s w% &t

c. Abraham Lincoln / stmew feis
d. None of these / 37§ & =g &

16. Which is the longest river in the

world?
I ShT Her el A i w27
a. Amazon / 3EsH
b. Volga / arem
c. Nile /=
d. None of these / s 8 & 15 7

17. What is the name of Light combat

Aircraft developed by India
indigenously?
TRA g [T T goeh TS, TS foHT B AT T

2?7

a. Brahmos/ s
b. Chetak/ =a®
c. Astra/s=

d. Tejas/as=

18. Lothal is a historical site of

TN FET b UfrRTieh T 27

a. Rigvedic age/ Fafés wra

b. Iron age/ @ &<

c. Indus Valley age/ fig =ét et
d. Gupta age/ TH1 1A

19. What is the currency of Australia?

st it war @ 27
a. Pound/die
b. Euro/=x

c. Rupee/ &
d. Dollar/Sier
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20. Who among the following is not a

recipient of Bharat Ratna?
= & 9 T 9 I 9 Fastia T2 87

Rajiv Gandhi/ wsftar it
JRD Tata/ st.em.E. e
Mother Teresa/ et S
None of these/ 3 & =i

pre B op

21. Cooking oil can be converted into
vegetables ghee by the process of

4ono.com
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25.

26.

Tore Ifsma 10 @M1 SATE ST 9 Rl Seatd = | sger

ST 87

Oxidation/ siferfiertor
Hydrogenation/ ssgisHiem
Distillation/ smaas
Crystallization/ fsreecfirto

= TR E SR

22. Rusting of iron involves
e & & e § i R hwor & e 27
a. Oxidation/ ittt
b. Reduction/ =fteror
c. Decomposition/ sraEes
d. Displacement/ e

23. Nuclear fission is caused by the
impact of
T ferge foher 3 SuTer ok SHROT BT 87
a. Proton/ we™
b. Electron/ so#
c. Neutron/=gm
d. Molecules /st

24. Hardware is related to
TSR fored weifera 82
a. Calculator/ seagered
b. Computers/ / F=et
c. Acids/ s
d. Heavy metals/ W arqait

27.

28.

29,

e g 0o
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Pearls are formed inside
Hifert 1 fmtor et 2rar 27

a. Squid's/ fagw s

b. Oysters/ i

c. Snails/ =%

d. Molluscs/ #rere &

Which of the following is a short
tailed rodent used in scientific
experiment?

TTH & K | AR TART % fore et foRam s
AT Tk % % Feih &7

Rat/ ==

Rabbit/ @@

Guinea pig/ frt gew

Squirrel / fier=tt

2 O, 0w

The part of cinchona plant which
yields quinine is

TETERIAT Ut T T ST i 9T LT

a. Root/s@

b. Leaf/ ut

c. Flower/sa

d. Bark/=sm@

The normal temperature of human
body is

T AT YRR 3T AT fohaaT rar 27

98.6F

99.4F

100F

97 F

0o

Which is a good conductor of
Electricity
o 7 & forstett &1 s1=1 Fareres #7187
Aluminum/ veHifEm
Glass/ ==
Wood/ =&t
Cement/ e
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30. The formula for kinetic energy is
Tt et T 7 &

HCL

1/2 mv?

mgh

1/4 mv?

e o

31. The nitrogen in urea is present in
the form of
FRET 7 ATSZIS e 3Tare & BT 87
a. Ammonium/ s#ifEm
b. Nitrate/ wtsee
c. Nitrite/ arsegrEe
d. Amide/ wze

32. Pulse crops can fix atmospheric
nitrogen because of
1A T T ATHET A ATSZ IS I ¥l S1eh 31k Tl

&?

a. rootnodules/ #ewify

b. deep roots/ Tl

c. aerial roots/ &% srei

d. roothairs/ s@ g s @

33. Gobar gas contain mainly
MR et H T T & 1A 87
a. Methane/ #9m
b. Carbon dioxide/ #w& eEitaass
c. Butane/ =g
d. Carbon monoxide /#& aHisiEEe

34. How many bones are there in
human body?
A YRR ¥ forat gefeat gt &7
a. 180
b. 198
c. 206
d. 210

35. Mala - D, a female contraceptive
Prevents

a. ren-<, & TR s R

b. Ovulation/ sfsissma &

c. Fertilization/ fi=m &

d. Entry of egg into the oviduct/ 3 %t
T H A A
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36.3,7,12,18 33:
22
24
25

28

) —)

a0 O R

37.There are 300 eggs in a truck. 20%
eggs are rotten. How many eggs are
in good condition in the truck?
e 300 3 E20% e us gu e
o § Tl fore 31 318 87

a. 100
b. 200
c. 300
d. 240

38. Which is the smallest number

= & o g s1et we 27
a. 5
b. 1
c. -5
d 0
39.1/3+1/3
a. 1/6
b. 2/5
c. 2/6
d. 5/6
40. 5% of 150?
a. 10
b. 15
c. 7.5
d. 10.5

41.5, 25, 6, 36,7, ....., 8, 64
40
42
45
49

20T

42.Solvex-3=5

a. 5
b. 8
c. 9
d 11
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43. Rahul purchased a car for Rs
3,00,000. He sold the car after one
year for Rs 2,50, 000,. Calculate the
profit and loss in percentage.
g = 3,00,000 Tux 7 T R THET HR qE HR
Tk a8 & are 2,50,000 T9  HR = & AT AT
BT ST TTA9T T hItTT)

a. 10%

b. 15%

c. 20%

d. 25%

44, Ram scored 45 marks out of 50
marks in a exam. What is his
percentage?

T 3 Uk e 7 50 7R & 45 3w gy e seq
fora ufcera 37 ug foru?

a. 70%

b. 80%

c. 90%

d. None of these

45.Ifa=2,b =4, c = -1, find the value of
a2-3bc+4ac?
gca=2,b=4,c=-1aa2-3bc+4ac 7=
RIS

2

a0 o
— 0

0

46.Solve/ z@=®u 2x =x + 4
a. 4

b. 5
c. 6
d 7

4ono.com 4ono.com 4ono.com 4ono.com 4ono.com

47.Arectangle is 12 cm and 8 cm. Find
the perimeter?
T T e 12 dwt ofe 8 &t § wikfer
Fra i

g0 o

10 cm
20 cm
40 cm
50 cm

48. A rectangle has a perimeter of 50
cm and width of 10 cm. Find the
length.

Teh A i Iifer R0 Ut § afe Suhl =ters Lo At ®

Al 3Eeh! el forHT BRft?

a

b.
C.
d.

5cm

10 cm
15 cm
20 cm

49. Solve 254x + 309y =- 55: 309x +
254y =55
254x + 309y =- 55: 309x + 254y = uu
& H

o 0,ow

)

-

U1 W =

-

1
2
3
6,7

50.40% of 200 =?

g0 o

80

90

100

None of these
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Answer key

1.(2) v 2.(a) v 3. (b) v 4. (d) V' 5.(c) v 6. (b) v 7. (b) v 8. (d) v 9. (a) v 10. (b) v 11. (b) v/

12.(c) v 13. (c) v 14. (a) v 15. (a) v 16. (c) v 17. (d) v 18. (c) v 19. (a) v 20. (d) v 21. (a) v

22.(a) v 23. (C) v 24. (b) v 25. (b) v 26. (c) ¥ 27. (d) v 28. (a) v 29. (a) v 30. (b) v 31. (b) v/

32. (2) v 33. (a) v 34. (C) v 35. () v 36. () v 37. (d) v 38. (c) v 39. (d) v 40. (c) v 41. (d) v/

42. (b) v 43. () v 44. (c) v 45. (C) v 46. (a) v 47. (c) v 48. (c) v 49. () v 50. () v
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